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Mz (@) wueT afad § vd g AT 1 SEHFE |

Note : Al Questions are compulsory and each question is of 1 mark.
i) 3 vt F s g @t Reafy H sigstt srqar &t A

Only English version is valid in case of difference in both the languages.

1. FHd o sETaa
(a)  90% e uH
(b) 80% YT HH

(c) HaT 100%
(d T

2. g Fyior | sl QAW @ €

@
(b) BT

(c) vTEE
(d) IR o

3, IHRHEISEEY-
(a) TIEEARH $
(b SRfafee

(©) qsrs'arm
(d T BETE

¢y

Carbon content of Coke is
(@) 90% or higher

(b) 80% or less

(c¢) 100% only

(d) None of these

Raw materials of steel making are
(a) Ironore

(b) Coal

(c) Flux

(d) All of the above

Heat resistant glass is
(a) Soda lime glass
(b) Borosilicate glass
(c) Fiber glass

(d) None of the above

P.T.O.
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4. G Hie & Fmin ¥ wge TS w5
A Y ISt S e % g war
T ¥ |

(a) 1300 °C - 1500 °C
(b) 2000 °C — 2200 °C
(¢) 1000°C —1100°C
(d) 3000 °C - 3500 °C

At farepe dos W 3e0 9 @ Hgha
Bt ® -

(a) 50 Hz (b) 60 Hz

(c) 70Hz (d) 100 Hz

T S wEa T -

@ gEm

(b)y =it

(¢) 7w wd gifem 3
(d) T 9 P T

T | R FA & ST e € -

(a) eI H
(b) SMH

(©) HieEH
@ FH

Fode o @ 4 fass aa €
(a) FEA AR
(b) FaA G

(c) HRET UE W g

@ THIPETE

2

2133

In soda lime glass manufacturing
process to melt the used material in
furnance is maintained temperature

() 1300 °C — 1500 °C
(b) 2000 °C — 2200 °C
(© 1000°C—1100°C
(d) 3000 °C — 3500 °C

The  frequency  produced  of
alternating current in a thermal power
plant is

(a) 50Hz
(b) 60Hz
(¢) 70Hz
(d) 100 Hz

The source of nuclear energy is
(a) Uranium

(b) Thorium

(¢) both Uranium and Thorium
(d) None of these

Nuclear power plant is situated in
Rajasthan

(a) Rawatbhata
(b) Anta

(c) Dholpur

(d) Kota

Cascade control scheme have the
controller :

(a) master only
(b) onlyslave
(c¢) both master and slave

(d) none of these
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9.

10.

1.

12.

13.

14.

TarEfE WS & afEE & e wgE

Faxe fFa=w o

() URK Frarw wia s & (ke
FIATE |

() @ Fraees are faas o 38
HEATE |

© (2)3 ()T

(d) WA HE T

3[ep W WIFErT 9SSt T ST ¥
(a) W9R

(b) T HFER

() TWEmd

(d) ST Tl

FATERTE ¢ Yh | <19 g & -
(a) AN T & A
(b) TERNE S HH

(c) dEERYIT T § A
(d) T BETE

5% P qed 9 § Fafaa aa &
() o T W

(b) et TRIE W

() CUFIRE T 48 HiT

(d) TEUER-{EEE A

o s | Y I @eT 39 W Bl ¢
(a) VHTTH

() TeH

(c) wodH

@ f=id

<o g b N e FEEnt aee
B E -

() et fomrost &t T

(b) faeosd Fdag@

(c) &t za ot J®

(d) oI IS FEeosT A

(&)

10.

11.

12,

13.

14.

2133

In a cascade temperature control of

chemical reactor

(a) master controller reset slave
controller

(b) slave controller reset master
controller

(c) (a)and (b) both

(d) None of these

The materials are dried in dryers
generally

(a) by steam

(b) by hot surface

(¢) byhot air

(d) all of the above

Pressure is maintained in atmospheric
tray dryer

(a) equal to atmospheric pressure
(b) less than atmospheric pressure
(c) more than atmospheric pressure
(d) none of these

Dryer controllers are generally
controlled

(a) only proportional mode

(b) only reset mode

(c) proportional and reset mode

(d) proportional-reset-rate mode

Hold up time of material in spray
dryer is

(a) inseconds

(b) in minutes

(c) inhours

(d) indays

Automatically controlled variable is
in double drum dryer

(a) speed of the cylinders only

(b) the spacing between them

(c) liquid level in the valley

(d) steam pressure in the cylinder
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15. IS ¥ 6% 4 Wie H Frafam v €
(a) uftae-E nfq B &R
(b) HAI I FN
(c) TIQ
@ THIBEAE
16. WYX F fowa= o way €2
(a) TR HE = (T H WEm -
(SHieBOT i T
(b) A=A HHE = (T TEm) +
(Qitei i e
(¢) = FiC = =3 B =T/
TRl St T
(d) A= Hife = T B TE&AT x
T W T
17. =W & & fa=w & fon sifyean e
o et #t stavasr Bt ¥ 0
(a T b
(c) ©H (@ ¥R
18. W9 T Geimed o aAfuwan aenifes
=t & s 1
() T b [
) @ @ =R
19. W RS ANEeR & AN $HS I
fafy d e P ¥ -
(@) aHH e
(b) vaE FEEs
) @ s
(@ uaz s

@

15.

16.

17.

18.

19.

2133

Feed is controlled in a fluid bed dryer
(a) by variable speed screw

(b) by conveyer belt

(¢) by manually

(d) none of these

Which relation is correct for steam
heater ?

(a) Degree of freedom = number of
variables — number of equation

(b) Degree of freedom = number of
variables + no. of equations

(c) Degree of freedom = number of
variables/no. of equations

(d) Degree of freedom = number of
variables x no. of equations

How many maximum automatic
controllers are required to control
steam heaters ?

(a) one
(b) two
(c) three
(d) four

Maximum numbers of automatic
controllers are required in steam
heated reboiler are

(a) one
(b) two
(c) three
(d) four

In a steam  heated reboiler
temperature flow cascade loop master
controller is

(a) temperature controller
(b) flow controller

(c) pressure controller

(d) level controller

%
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20.

21.

22.

23.

24,

25.

Hre wras P § ffe # quRr S
(a) TS AT AHA

(b) A

(© W P aRd

(d T I K@

et YT arsitenter 3 o faere B I
Bt A TR S &

(a) A TH TR

(b) A AR

(¢) WASK

(d IRIR

;A e TR & B € 2
(@ @ (b) A

<

() U @ @

B} Tl eatuT s ;i fera
I © -

(a) o A

(b) IR

(c) UmIEH

(d WEIATH

forg afsrs & SRS Ue O S
A A 2

(a) &ifet et anfe

(b) SRR QR

(c) B el anfer

() o e A

s o frw wiear uras 5t Fafa w@
(a) W@ () Tia

(c) A (& =

20.

21.

22,

23.

24.

25.

2133
In feed forward control error is
compensated
(a) before or instantaneous
(b) After

(c) either before or after
(d) none of these

In a single effect evaporation dilute
solution is passed through heat source

(a) onlyonce
(b) only twice
(c) thrice

(d) four times

Mainly how many
evaporation are there ?

(a) two
(b) three
(c) five
(d) six

types of

Short tube vertical evaporator are
used mainly

(a) in thermal plants
(b) in sugar industry
(¢) in paper industry
(d) in fertilizer industry

In which evaporator cleaning and
repairing is easy ?

(a) Horizontal tube evaporator

(b) Forced circulation evaporator
(c) Short tube evaporator

(d) Long tube evaporator

Which  process  parameter  is
controlled in evaporator ?

(a) flow
(b) speed
(c) temperature
(d) density
P.T.O.
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26.

27.

28.

29.

30.

fireren g1 Fid e € -
(@ foge g
(b) fomp FawTH
(c) 3ITiuTT®
(d) T FgETH

forep W= & AT A9 A
T

(2) gHIHTA |/

(b) wfaRy amaET 9

() @I@®IFI

(d) g amm |

vty v o fafswor @ oo #d €
(a) 3 P TR

(b) TR YoR HISW FR

) Toodevm dgEs ew

(d) ITEE T TR

Wi fmior § e e B € -
(a) FEARA

(b) A

(c) vz

(d) IR TR

iR aifeRT e W ST ST Rl § -
(a) TR T o

(b) TR faEvea |

(c) Had d

(d) ST

©

26.

27.

28.

29.

30.

2133 =«

Molten glass is a

(a) electrical conductor
(b) electrical insulator
(c) semiconductor

(d) super conductor

Temperature is measured in electrical
power plant mainly

(a) by thermo couple
(b) by resistance thermometer
(¢) both (a) and (b)

(d) glass thermometer

Radiation is measured in nuclear

industry

(a) by ion chamber

(b) by Geiger mullar counter
(c) Dby scintillation counter
(d) by all of the above

Raw materials for cement industry is
(a) Lime stone

(b) Clay

{c) Sand

(d) All of the above

Nuclear energy is generated in

nuclear power plant

(a) by nuclear fusion
(b) by nuclear fission
(¢) bycoal

(d) all of the above
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. () wawwe sifEr & v 4 @ Rl abe 3 g R
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) Wl 7vT & @t AP @ AR U T £ HHTT |
Solve all parts of a question consecutively together.
(iii) TF o B 79 7 d gReT P 1
Start each question on a fresh page.
(iv) gl wrarat | e & 1 feafy 4 s srqaE d@t a2
Only English version is valid in case of difference in both the languages.

1, P« e | omEnEd
Explain the following in brief :
() ea ofra = & g 3
Half life of a radioactive material.
(i) i fara €97 1 9 96
Water cycle of a Thermal Power Plant.
(iii) 9 Y&FF F AERFEHN
Need of a batch dryer.
(iv) TR Ruae § am fFrir 6 sreeEe
Need of temp. control in chemical reactor.
(v) SIS ST
Multi effect evaporation. (2x5)

2. firera s =t fafa % ofem aola =T

) P.T.O.
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Explain the glass making process with neat sketch. (12)
ardta wif g 1 i aoie Fifg |
Explain the working of thermal power plant with neat sketch. (12)

) sl od vioer s ai TaahE weg) o Sade an frer fafy @ e o
Explain cascade temperature control of chemical reactor with heating and cooling
capability.

(i) &= arg viare SuRvd) fafr gr st o P 9 e st ¥ 2 wfe o i

How the reactor pressure can be controlled by throttling flow of vent gas ?
Explain with neat diagram. (6+6)

T A A FHeUeT 5 B W NG FAEH I |
Explain double drum heated cylinder dryer with neat and clean sketch. (12)

() T o fafae o an Free # arduw faf # wfe awend

Explain temperature control of steam heated exchanger using bypass control
method with neat sketch.

(i) Q-TEER & T A e P 7Y H Wied GHAE |

Explain temperature flow cascade loop for reboiler with neat sketch. (6+6)

ffir=r wbR % a5 A FRaT we 3T wee ATe 3 fA o Frior e bt afe
TR |

Name the different types of evaporators and explain feedback control system for
product density measurement by neat sketch. (12)

frfofiga feet 2t ot it femont fefiag
Write short notes on any twe of the following :
() ot <t =5
Vacuum blender dryer.
(i) afr =  FrEr
Condenser on pressure control
(iii) ST TR e
Forced circulation evaporator. (6x2)



